H £ 0l & AF & S

Al A

N Moz
M LSS MEEY
Selr J=ME oA KZAY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MES I 33,118,479 21,613,925 11,504,554
= 26,218,889
[ 57,915
Al 4,072,079
- 2,724,9%
= 44,600
NASE 482 23,154,019 14,409,306 8,744,713
= 20,752,891
Al 1,668,909
- 732,219
=M=z A KZA 23,127,451 14,364,338 8,763,113
= 20,752,891
Al 1,646,409
- 728,151
AHISE XA 36,812 42,440 25,628
Al 36,812
301 EetE NS 36,812 42,440 N5,628
Al 36,812
02 A2 X LGS (FHAAHS, XNLWE) 36,812 42,440 N5,628
OXH W SHI 31,312,000& 31,312
Al 31,312
OE =] 5,500,000& 5,500
Al 5,500
MEsy= 6,038 6,167 A129
308 XtXIEMSO0IH 6,038 6,167 A129
08 w=J|20Het 2 6,038 6,167 A9
Ouss0 6.,038,000& 6,038
HAZS0 16,600,000 9,820,000 6,780,000
= 14,940,000
Al 1,162,000
- 498,000
301 LEIE NS 16,600,000 9,820,000 6,780,000
= 14,940,000
Al 1,162,000
- 498,000
01 Al 2E A S(SRNEXMHE) 16,600,000 9,820,000 6,780,000
OdA=0 16,600,000,000& 16,600,000
= 14,940,000
Al 1,162,000
- 498,000
FHSN 6,294,101 4,320,231 1,973,870
= 5,664,691
Al 440,587




SN MESI
M LSS MEEY
Selr J=ME oA KZAY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 188,823
301 EtE NS 5,988,209 3,792,911 2,195,298
= 5,389,388
Al 419,175
- 179,646
01 Al EE AT Z(2DEXR) 5,988,209 3,792,911 2,195,298
OFHSH (L X=0) 5,988,209,000& 5,988,209
= 5,389,388
Al 419,175
T 179,646
403 MR SHHMSAHE01H 305,892 527,320 N221,428
= 275,303
Al 21,412
T 9. 177
02 S712S0 e AH=H 2 E AL 305,892 527,320 N221,428
OFASU (=R XSA)
305,892,000 305,892
= 275,303
Al 21,412
- 9. 177
HAEHMSOoI(LE) 93,000 82,000 11,000
= 83,700
Al 6,510
- 2,790
301 LEIE NS 93,000 82,000 11,000
= 83,700
Al 6.510
- 2,790
01 Al 2E AL S(FREXM) 93,000 82,000 11,000
OdiME RS0 () 93,000,000 93,000
= 83,700
Al 6.510
- 2,790
ESESPN=CIONES)) 5,000 5,000 0
= 4,500
Al 500
301 LEIE NS 5,000 5,000 0
= 4,500
Al 500
01 Al EEATZ(ZREXMR) 5,000 5,000 0
O &EHMSAH(AIE) 5,000,000& 5,000
= 4,500
Al 500




SN MESI
B HASE MBIH
SR DIzl XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2= N2A 60,000 56,000 4,000
= 60,000
301 EtE NS 60,000 56,000 4,000
= 60,000
01 Al EE AT S (2 RDEXMR) 60,000 56,000 4,000
Od == =il 60,000,000 60,000
= 60,000
2A=2g80 =5 0H2d EL 2URE=s XE 30,000 30,000 0
307 elztol & 30,000 30,000
01 22X +&H| 30,000 30,000
Ol 2228g= N&E=
30,000,000 30,000
FAHS SXNSH AT 2,500 2,500 0
203 =4l 2,500 2,500
03 A=A 2= 2,500 2,500
OFIAAHE SXNSE AIMF2
2,500,000 2,500
A2 HES XSAS 22,500 40,000 A17,500
Al 22,500
SN JZEES0 22,500 40,000 A17,500
Al 22,500
301 LEtE N = 22,500 40,000 A17,500
Al 22,500
02 AR 2EH 2GS (HAAS, NWE) 22,500 40,000 A17,500
OdASH S 22,500,000 22,500
Al 22,500
SEE2E 2el 3,968 4,968 21,000
ST A2t 3,968 4,968 A1,000
201 =3 3,968 4,968 21,000
01 At2t2lt] 3,968 4,968 A1,000
OSE XA - 2|12+ SEH
8,000 x6& 41 1,968
OAI2EZ0AIE A& M S
2,000,000 2,000
Arefl2te| & 2 JMAH A 100 0 100
SIESH2ACIAL 2 100 0 100
201 et 3| 100 0 100
01 At22t2l] 100 0 100
OS2 (2423022l Ozl X
50,0003 *2& 100
NASS MEolet &4 2,746,952 2,604,025 142,927
= 2,383,442
Al 283,444




SN MBI
M MASE NEJIE ¢
=@l MASE THE K2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 72,866
= 7,200
HASE & X 2,746,952 2,604,025 142,927
= 2,383,442
Al 283,444
- 72,866
= 7,200
Ag2=2 2,008,612 2,149,187 A50,575
= 1,888,839
Al 146,910
- 62,863
307 elzto| & 2,098,612 2,149,187 A50,575
= 1,888,839
Al 146,910
- 62,863
11 AMEISXAEEES 2,008,612 2,149,187 A50,575
OXEZZAM 2,098,612,000& 2,008,612
= 1,888,839
Al 146,910
- 62,863
NS RtHeE K2 293,143 278,711 14,432
= 205,201
Al 87,942
307 elzto| & 293,143 278,711 14,432
= 205,201
Al 87,942
10 Al SXAEEHE 22X 293,143 278,711 14,432
OXGt2e 24| 293, 143,000& 293,143
= 205,201
Al 87,942
NS TtgulE A SX=g 32,466 18,600 13,866
Al 25,266
= 7,200
307 glztol & 32,466 18,600 13,866
Al 25,266
= 7,200
10 Al SXAAEEHE 22X 32,466 18,600 13,866
ONAREHE Xe =X+
25,266,000 25,266
Al 25,266
OUZALRI S AIAL XK &t
100,0002 6~ 122 7,200
= 7,200




SN MBI
M HASE TR TH
=@l MASE THE K2 (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
ZEsAUJEs =32 2SS XIH) 322,731 157,527 165,204
= 289,402
Al 23,326
- 10,003
307 2I2+01 ™ 322,731 157,527 165,204
= 289,402
Al 23,326
- 10,003
M ARRI=SXAIEE X 322,731 157,527 165,204
OgWIIz=E1 3,449,000 3,449
= 3,104
Al 241
- 104
OgWIIz=E2 8,639,000 8,639
= 7,774
Al 604
- 261
ougsIss& 5,930,000& 5,930
= 5,335
Al 416
- 179
OFEsIYIIZSH 30,447,000& 30,447
= 27,402
Al 2,131
- 914
OFAMSAZ 36,615,000& 36,615
= 32,953
Al 2,562
- 1,100
Os|LH=HZEH 52,776,000& 52,776
= 46,443
Al 4,433
- 1,900
Os|LH=HE2 21,701,000& 21,701
= 19,531
Al 1,519
- 651
OFE UL M= H XX 016t
19,442,000& 19,442
= 17,498
Al 1,360
T 584
OFE UL NS H E-XHa? =10t
143,732,000& 143,732
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SN MBI
M MASE NEJIE ¢
gelr MASS g N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 129,362
Al 10,060
- 4,310
Fofel XS 7,078,775 4,510,855 2,567,920
= 3,082,556
Al 2,105,247
- 1,876,072
= 14,900
Zojel sXNSH 7,078,775 4,510,855 2,567,920
= 3,082,556
Al 2,105,247
- 1,876,072
= 14,900
ZoHe! A S 2,360 2,360 0
201 el 2,360 2,360
01 At22t2lt] 2,360 2,360
OHMHAXSIHEA F 8002 *700H 560
OFNUREZHTH BLEE 2
1,000, 0002 1,000
OTHAIM STF0I THTY M
80,0002 x5 *23] 800
ZofelXiggel 22 AHE X 38,475 35,663 2,812
Al 28,375
= 10,100
307 elztol & 38,475 35,663 2,812
Al 28,375
= 10,100
10 Al SAAEEHE 22X 38,475 35,663 2,812
OZRSHe 22/ XA
28,375,000 28,375
Al 28,375
OZRISHe 222 28 X2
10,100,000 10,100
= 10,100
==& X= 225,777 206,056 19,721
= 158,044
Al 45,155
- 22,578
301 EtE NS 225,777 206,056 19,721
= 158,044
Al 45,155
- 22,578
01 ARSI 2E AL S(SREXMH) 225,777 206,056 19,721
Od=g Xa 225,777,000& 225,777
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SN MBI
M Zoje SXNSH
s ool SXsH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 168,044
Al 45,155
- 22,578
FO=E(Xa9) X2 118,887 105,733 13,154
= 83,221
Al 23,777
- 11,889
301 Eet2 NS 118,887 105,733 13,154
= 83,221
Al 23,777
- 11,889
01 Al EE A S (2 RDEERA) 118,887 105,733 13,154
O M= (Xtael) K= 118,887,000 118,887
= 83,221
Al 23,777
- 11,889
ol ME=< 53,747 52,973 774
Al 53,747
301 EtE NS 53,747 52,973 774
Al 53,747
02 ARSI S2E A S(FIANS, XLETHE) 53,747 52,973 774
OZOfe! e 53,747,000 53,747
Al 53,747
o 2=l X 91,080 102,350 211,300
= 72,840
Al 18,210
308 AFAIEHMSOIE 91,050 102,350 211,300
= 72,840
Al 18,210
11 S [2S0 e 4 A AS A 91,050 102,350 A11,300
OZoHel 2l=H| 91,050,000 91,050
= 72,840
Al 18,210
NASEOHQ! e A X2 1,200 1,200 0
= 600
Al 600
301 EtE NS 1,200 1,200 0
= 600
Al 600
01 Al 2E AL S(SREXME) 1,200 1,200 0
OMASZOQ &Sl ¥ 2AHHl X
1,200,000 1,200
= 600




FA HEE
el

mE: Fojol =2XEA
s ool SXsH (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
| Al 600
ZOHQIEXRD |7 W 3,375 1,875 1,500
= 2,700
- 675
301 2eEN= 3,375 1,875 1,500
= 2,700
T 675
01 A2 HSHS(RNEERTH) 3,375 1,875 1,500
OFHe! e 2X0|+ 3,375,000 3,375
= 2,700
- 675
Z0jots FAUESAE 29 N 75,414 76,413 299
Al 75,414
307 212told 75,414 76,413 2999
Al 75,414
10 Al SXAIZEHE2EHI 2 X 75,414 76,413 2999
OZ 0ot FAUEZS AL 2l
63,274,000 63,274
Al 63,274
OZ ot FUEZS AL 2
11,000,000 11,000
Al 11,000
OHOl0ts F2UESAIE SXELLIE
100,000 2 200
Al 200
OQZotS FAUZBSAIE Al2tI2R4E
940,000& 940
Al 940
ZOHAXMSIHEAIE 28 K& 261,691 246,679 15,012
Al 256,891
= 4,800
307 21201 & 261,691 246,679 15,012
Al 256,891
= 4,800
10 Al SXAEEHE2EHI2x 261,691 246,679 15,012
OZ0Ne! MATHEAIE 2124H|
216,713,000& 216,713
Al 216,713
OZ0fe MATHEAIE 2|
19,366,000 19,366
Al 19,366
OZ0fe MATHEAIE SAlH|
20,412,000 20,412
Al 20,412




SN MBI
M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBONOl HATHEAIE SXEAE
100,000 x4 400
Al 400
OUZHALRI S XA XK &t
100,0002~4&x12& 4,800
= 4,800
Zoje! BsX=20 A 1,820,830 1,276,742 544,088
= 1,274,581
Al 546,249
307 elztol & 1,820,830 1,276,742 544,088
= 1,274,581
Al 546,249
05 2I2tRIE S 1,820,830 1,276,742 544,088
O&oje gsXas80 A
1,820,830,000& 1,820,830
= 1,274,581
Al 546,249
ZOHRIESKIE IHa=E0 X 2,920 2,684 236
= 2,044
Al 876
307 glztol & 2,920 2,684 236
= 2,044
Al 876
05 212t S 2,920 2,684 236
OZMEsKA HSH X2
2,920,000& 2,920
= 2,044
Al 876
ZOHIESXIA AlHIZ=IHKA 86,832 80,690 6,142
Al 86,832
307 gl2to| & 86,832 80,690 6,142
Al 86,832
05 2ItRIE =S 86,832 80,690 6,142
OIS XE Al
86,832,000& 86,832
Al 86,832
OIS SKIAMNY 2 4,850 4,850
201 er23 | 4,850 4,850
01 At2teltl 4,850 4,850
O+SNARA S
100,000 x3& %123 3,600
OM=zII1& XNd &ARIE =&
100,000 5 »23] 1,000
O=E7Y S AR2gH]
250,000 250
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SN MERID
= Zoje sXsd
chel: Fojol =XSA (Shol: % 2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
gofelois =0 K= 1,328,034 1,322,374 5,660
= 929,624
Al 398,410
301 LeEN= 1,328,034 1,322,374 5,660
= 929,624
Al 398,410
01 Al EE A S (2 RNEXMA) 1,328,034 1,322,374 5,660
O&ujelds 20 K=
1,328,034,000& 1,328,034
= 929,624
Al 398,410
o LT e X (L Rt2|) 410,916 391,014 19,902
= 205,458
Al 205,458
301 LtEN= 410,916 391,014 19,902
= 205,458
Al 205,458
01 Al EE A S (2 RDEXMA) 410,916 391,014 19,902
OmONIUTIZIXI A (L AT2])
410,916,000& 410,916
= 205,458
Al 205,458
ZOHQI LRt  XI & (AIZFRIZ Rtel ) 234,55 112,080 122,476
= 117,278
Al 117,278
301 LENZ 234,55 112,080 122,476
= 117,278
Al 117,278
01 Al EE AT S (2 RDEEMRA) 234,556 112,080 122,476
OFONILTIZIXIA (AL R2])
234,556,000 234,556
= 117,278
Al 117,278
ZOHI LRI X & (SXILXH2l) 154,572 171,124 A16,552
= 77,286
Al 77,286
301 LtENZ 154,572 171,124 A16,552
= 77,286
Al 77,286
01 Al EE A S (2 DEXR) 154,572 171,124 A16,552
OZHAI LRI X (SKILRt2l)
154,572,000 154,572
= 77,286
Al 77,286




FAN S22
Hm: mojol =2XSA
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SETHEMHIA BIRH X 69,029 50, 181 18,848
= 48,320
Al 20,709
307 el2to| & 69,029 50, 181 18,848
= 48,320
Al 20,709
05 212t =S 69,029 50, 181 18,848
OLLHENHIA BI2H X
69,029,000 69,029
= 48,320
Al 20,709
JoHIEs SAAY X2 33,400 28,600 4,800
307 lztol & 33,400 28,600 4,800
11 AMEISXAEEES 33,400 28,600 4,800
O SXIALS X2 25,400,000 25,400
OZ0He! A X1 8,000,000& 8,000
&0 SABIEA2A 2,000 2,000 0
= 1,400
Al 600
301 22N 2,000 2,000 0
= 1,400
Al 600
01 AR 2EHSFS(RNEERTH) 2,000 2,000 0
ON &l ESMHIESXA
2,000,000& 2,000
= 1,400
Al 600
oty SIS KIS 2,000 2,000 0
301 2N = 2,000 2,000 0
03 A2 E A4S (XL THH) 2,000 0 2,000
OF0ee SdtXE=SXE
2,000,000 2,000
ZJOHUBOAIE AEH M=TA 62,000 0 62,000
Al 18,600
- 43,400
101 @124H| 61,130 0 61,130
Al 18,340
- 42,790
04 JIZtN2 2N S+ 61,130 0 61,130
OZOAUEAAIE HEHZAF ZAIRE Q12AH|
61,130,000 61,130
Al 18,340
- 42,790
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SN MBI
M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 870 0 870
Al 260
- 610
01 AlR 21| 870 0 870
OBOJQIBOIAIL AEEAL ZAET 2L
145,000 64 870
Al 260
- 610
LEHQ FHESHHIAXRA 107,000 47,164 59,836
= 74,900
Al 32,100
307 lztol & 107,000 47,164 59,836
= 74,900
Al 32,100
05 212t S 107,000 47,164 59,836
O LT FAHSAHUIAX
107,000,000 107,000
= 74,900
Al 32,100
220 SUSSSHEAXA 48,940 26,700 22,240
= 34,260
Al 14,680
307 glztol & 48,940 26,700 22,240
= 34,260
Al 14,680
05 21t =S 48,940 26,700 22,240
OSLLHMR YU SEAIAT
48,940,000 48,940
= 34,260
Al 14,680
OIS N 2F K& 81,000 86,000 /5,000
Al 81,000
307 el2to| & 81,000 86,000 /5,000
Al 81,000
10 AlRISTIAIEEE 22X 81,000 86,000 /5,000
O My 28 A&
81,000,000& 81,000
Al 81,000
LEHOQ FUHESAHHIA AHIFIXIA 3,000 3,000 0
Al 3,000
307 @120l & 3,000 3,000 0
Al 3,000
05 2IHRIE S 3,000 3,000 0




FAN S22
Hm: mojol =2XSA
s ool SXsH (SH9 H2)
SA - ZE - B2(30) - HRAS of v e HIDE2
LT FAHSHUIA AlUIFEIIN
3,000,000& 3,000
Al 3,000
SHFeI=sig2 =4 1,750,000 0 1,750,000
401 AIZHIZL SO 1,750,000 0 1,750,000
01 Al&HI 1,739,000 0 1,739,000
O3AHHl & 1,739,000,000& 1,739,000
02 Zeltl 9,000 0 9,000
O3At & Zel 9,000,000 9,000
03 AlZ = THHI 2,000 0 2,000
OI2A 2,000,000 2,000
SIS 29 4,920 0 4,920
201 =3 4,920 4,920
01 AtR2t2ltl 1,400 1,400
Osdll 848 === 220,000 x4Z 880
OAYOIRRR| HY 242
130,000 x4 520
02 S3=gHl 3,520 0 3,520
OSBHIAIAE S22l
150,000« 12& 1,800
(OFSPIESE=] 400,000 x4 1,600
Odotee=s 60,0003 x2& 120
dY2IFH(d223) 138,733 67,239 71,494
[ 57,915
Al 14,479
- 43,839
= 22,500
el 2| 94,8%4 0 94,8%4
= 57,915
Al 14,479
= 22,500
At 22| A ERHA i 9%4,8%4 0 9%,8%4
= 57,915
Al 14,479
= 22,500
101 ©1AH| 84,259 0 84,259
[ 51,279
Al 12,820
= 20,160
03 SRA(RIH )22 U2+ 84,259 0 84,259
OJI228 (A 2E)
32,049,500 2 64,099
[ 51,279




SN MBI
B WEHSHAH| (MEERD)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,820
OX=2IME =< 20,160
o HE S I 2,192,500 x2H 4,385
= 4,385
ogliEd= 1,287,5002 x2H 2,575
= 2,575
o ALY 1,500,0002 x2&H 3,000
= 3,000
o SH| 1,500,000& x2&H 3,000
= 3,000
ol 3,600,000 x2&H 7,200
= 7,200
303 Zal= 2,720 0 2,720
= 2,176
Al 544
02 8taois 2,720 0 2,720
Ogltati= 1,360,000 x2&H 2,720
= 2,176
Al 544
4 HASFEESS 7,915 0 7,915
[ 4,460
Al 1,115
= 2,340
04 SR (RIH)22N BEE=RES S 7,915 0 7,915
Ogz, 2E8g, 883 S
2,787 50022 5,575
[ 4,460
Al 1,115
ogz, 28z, 23 S(85:8)
1,170,000& x2H 2,340
= 2,340
J1I=23Hl 43,839 67,239 A23,400
SAI12ZH| 43,839 67,239 A23,400
201 2= 9,639 9,639 0
01 At2t2lt] 9,639 9,639 0
A2 J=2+EH| 279,000& x17H 4,743
OJlzg=-8d =gtl
8,000 x341 %178 122 4,8%
202 048l 30,600 53,040 22,440
01 2L A 30,600 53,040 N22,440
OJ|2g =8 0bl
150,000« 17+ 122 30,600
203 g4l 3,600 3,600 0
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od
i’
oF
uJ

-

KIO

Hlw

MEE
Ofl &k2h

3,600

Ofl &F2H

3,600
3,600

- ESS

- SRA(E) - HIRAY

S - B

0K

300,000 123
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